o ®

[E8Z 1] ©2) f(x)=—x?
WO TR % KD L.
1) 1%k y=—3x+1 Dx=0 205 x=3 £ TOEHEILR

2) 1B y=2x D, x=a H b x=b F TOFHEHR

3) 2K y=—22D, x=2 15 x=2+h £ TOLLHE(R

[EEHDFHE]

R OB AW X,

(1) y=4x°—2x*—5x 2) y:_%xﬁ.%xﬂ_%
[ 4%]) (3) y=ax+2)x—2) () y=3(x2—2)?

ERICHE ST, WOBN A RD L,
1) f(x)=2x—3 (x=0)

[WAWAZRITFIZ X B85
KO E [ ] NOTETHMAE L,

1) s=3t2—4t+2 [¢] Q) V=—=nr® [7]

@  fly=2" (x=1)

[5% 3% AV - B o BE]
[6] Wl 2~ Tilli7=3 2 WK f(%) 23k X,
Fo)y==3, f/(1)=1, f(0)=2

[ p%]
W DRI A TR~ TR kL
1) flx)=3x




(L)

[ Lo SizBiF 38R0 FER]
BH y=242—dx 43 D57 LIt A2 3) % LB,
) A B 2EROES 2R L,

2) RAZBTLERO TR ERD K,

[df Lz EmnbE W0 5 ER]
B y= 2= 22 +4 7 T 7T JEUE O 5B R0 St A R L

GEQET )
[9] wooBI%L > % T~ X,
1) f(2) =x°—622+5

[Bgkomp s 77 7]
KOBE ORI AT, MifEdkb L, £, 2075 75,
1) y=x>—6x*+9x

2 y=—x3+3x*+1

(3) y=x>—3x24+3x+5




W@

[4 kBE%D T Z 7] (2) y=—-2x°43x"+124—3 (—2=<x=1)
[L1] kOB OB H~, MHfizsko X, £, TO7T 7 %2007,
(1) y=x'—8x"+2

2) y=3x"'—4x*—12

[HBfE & B O E]
B f(x) =2+ ax®—9x+b B x=—1 THWAMES 2L 5 L&, Ea, bofEzk
&, Fie, WUMEAEZRD K,

(B3 D B K-8/ ]
W OB ORI, oMz KD X,
1) y=x2343x* (—3<x<2)




W@

(X DR K H/] 2) —axt44x°—4x2=0
610 cm, #% 16 cm O EHHOEMRO MRS,
AU KX SOEHBEZEORD L 5280 s T,
SEDRVEENED, HORMERKICT 5101,
Y)Y 5 EAHOLLOE S &0 em g XV,

[ 52 % 18 %[ 2)]
JER 200 — 322 — a =0 DRI D FHFROFLL A KD X,

[FEROEH ]
(%?ﬂiwﬁﬁ[lll » - 220 DL &, WORERNRYIHOZ LT L, £/, SERKY LoD E
WD IFRERD BT D FHSROEE KD L, DES7pL X,

3 _
(1) 2x°—6x+3=0 234+ 3x24+5=>9x




